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LY 3 11.69 5.34 2.83 2.0 I EES 4 14.62 8.04 2.80 3.9 Il EEEECES 2 7.79 4.38* 045 4.2
8|&: % 6 11.31 6.59 111 4.0 8 REIENC =2 980 3 10.96 5.53 0.94 2.9 813 % 2 7.79 3.68 1.13 4.2
9| 5| IR G5 e 3 10.96 5.53 0.94 2.0 91T % % 2 7.31 5.60 2.68 2.0 9 | A foir o 2 7.79 2.85 9.63* 4.2

Hoozbt A ) 24 45.26 24.84 0.77 16.0 Hipozbd & g F) 14 51.16 30.23 0.99 13.7 Hopozbt A g 5t F) 3 11.69 5.14*  0.25* 6.3
11~ 5 45 % 2 7.79 438* 045 1.3 (N ENCE R S 2 7.31 459 1.83 2.0 111% Ay 1 3.90 1.10 17.36 2.1
12| fedr o ok 3 5.66 2.62 4.83 2.0 12] 5 5 5% 2 7.31 4.39 1.26 2.0 12155 = % 1 3.90 1.10 1.12 2.1
13] % 2 % 3 5.66 2.59 1.18 2.0 13| & 4ol i v23E R 2 7.31 424 1.94 2.0
14|\ &% % 2 3.77 2.75 1.74 1.3 14)5% 5% 1 3.65 245 0.43 1.0
15] # sEpi 2 3.77 2.63 1.34 1.3 15| & fodic i 1 3.65 2.07 2.38 1.0
oo LLFji B R4EE Y A v i $453,0314 F 27,3644 A 1225,6684 o

2. R FOONFRMRE L A F 5 TH ) A A RE RS FEF RN AR 2 F (a=0.05)

4 FA kR

FLARTIIN S P4~ P AR B ¥ R

L A A LAk WA S
AT Bt

% ( Standardized rate) % 122000 W.H.O. & F 4 ¢ #ds % 5 A8 o k- ) A 7Rl = &
3. &2 - 5+ = 1t ( Standard mortality ratio, SMR) - .

PR TE N Y

%
c= &4 ¥ F (a=0.05) ¢




K24 2 E/ Z -u K R - »
35 0 B o®m & M KR R O < R T
% R102# (2013+#)
& = g B - 1
g A R I R E i R R E Bk S R
= R 7 A R » = R OF] gL FIR = R 7 S AT FRAR

i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %

T R > 39 228.20 165.03 1.20 .00.0 1 Rk 7 26 294.38 225.31 120 .00.0 h R 7 13 157.42 108.89 1.18 .00.0

LA e F) 30 175.54 125.95 121 76.9 Ry 26 294.38 22531*+  1.65* .00.0 L R T 12 145.31 104.24 144 92.3
1P#fesp 23 % 7 40.96 30.48 1.19 17.9 1|prfosmp 23 6 67.93 55.83 1.50 231 1)%% 2 $foiz g 2 24.22 18.22 117 154
205 % ~ L5 E o R 6 35.11 22.96 0.90 154 205 # 2§ E o R 5 56.61 39.70 1.03 19.2 2 LR 2 24.22 14.37 4.65 154
3| 4 2341 17.45 1.33 10.3 K 2 4 45.29 33.57 1.33 154 3| F okt & ¥ R 1 12.11 14.81 35.67 7.7
41+ PR G e 2 22.64 21.09 2.50 51 4165 R® 3 33.97 26.25 2.10 115 415 im 1 12.11 13.76 3.66 7.7

. L e FREFENEAP T
5|5 % 3 17.55 13.89 2.02 7.7 5= HENE =29 2 22.64 21.09 2.50 7.7 5 PR 1 12.11 9.68 2.61 7.7

G YGFEWEAD S 55
6 o 1 12.11 9.68 2.61 2.6 6 |52 % 2 22.64 15.23 4.80 7.7 6 |75 1 12.11 8.44 9.40 7.7
Tl s % 1 12.11 8.44 0.79 2.6 T/ A o o o 1 11.32 10.01 8.61 3.8 A EXEE R 1 12.11 8.44 0.79 7.7
8lew ~ 2B i 2 11.70 8.50 0.55 5.1 81 % 1 11.32 8.40 1.04 3.8 L ERCE N R S 1 12.11 5.93 3.51 7.7
9 1% % 2 11.70 7.06 1.92 5.1 9 vk 1 11.32 8.33 6.86 3.8 Ol5 # ~ 25 4" HK 1 12.11 5.93 0.52 7.7
1007 = & 2 11.70 6.17 3.23 5.1 10]® A SRRy 1 11.32 6.90 20.53 3.8 10ps+fesep 24 s 1 12.11 4.65*%-  0.52 7.7

Hoi bl L o R 9 52.66 39.08 1.17 23.1 Hipozbd & g F) 0 0.00 0.00 0.00 0.0 Hoig 2t X R 5 F) 1 12.11 4.65*- 0.37 1.7
1104 4o b & 30 F & 1 5.85 7.15 18.45 2.6
1215 i 1 5.85 6.51 1.52 2.6
13|/ AL frdi fo 50 1 5.85 5.01 6.19 2.6
4] % 1 5.85 4.19 0.73 2.6
15) 7 % 1 5.85 3.88 3.43 2.6

ot LBk G AREY A v e 17,0004 F 48,8324 4 148,258+% o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




K24 2 E/ 2. N K R - v
§ 0t OB O® % X B R & = R 7
2 ®102+# (2013 #)
& = g 1 “ B
3 * o R R &R R R R S R
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

T R > 63 174.63 129.74 1.00 .00.0 1 Rk 7 43 232.34 183.76 1.05 .00.0 4 R 7 %] 20 113.84 76.67 091 .00.0

LA e F) 55 152.46 114.44 1.13 87.3 Ry 37 199.92 158.59 1.16 86.0 L R T 20 113.84 76.67 131 .00.0
1|srfosmp o3 15 41.58 32.12 1.32 23.8 1]rc s 10 54.03 46.39 1.69 23.3 1pfosmp w2 g 5 28.46 23.27 131 25.0
2| 10 271.72 23.73 1.65 159 2 PferFp EE 10 54.03 39.83 1.32 23.3 2|+ s 4 22.77 15.92 1.55 20.0
Kl EREECES S 4 22.77 15.92 1.55 6.3 3|5 % 5 27.02 22.37 1.80 11.6 3o -2 frn 4 22.77 13.60 1.17 20.0
416 % 6 16.63 12.61 2.02 9.5 4 e 3 16.21 13.06 4.01 7.0 Al L7 w 3 17.08 8.26 0.79 15.0
Slid 47 EfmH® 6 16.63 10.61*- 047 9.5 SlF# 25 g7 H 3 16.21 12.55*-  0.34* 7.0 5 LR 2 11.38 8.57 2.30 10.0
6|~ 2B iR 5 13.86 9.66 0.71 7.9 6|+ HESC =398 2 10.81 7.35 1.41 4.7 614 1 5.69 431 181 5.0
715 7] R CHEE A By 2 10.81 7.35 141 3.2 I EES 1 5.40 4.43 1.37 2.3 AEEE ] 1 5.69 2.74 5.25 5.0
8 | m 3 8.32 5.42 2.58 4.8 8 | % fort & 5 ¥ A 1 5.40 4.28 19.60 2.3
9 |5 %% 2 5.54 453 0.99 3.2 Ol&% ~ & 5 foiz R 1 5.40 4.28*%-  0.28 2.3
1005 s 2 5.54 437 1.54 32 10| @ A frd e SR 1 5.40 4.06 4.46 2.3

Hoozbt A ) 8 22.18 15.30*-  0.55 12.7 Ho 2t & g & F) 6 32.42 25.17 0.67 14.0 Ho 2t A g 5 F) 0 0.00 0.00 0.00 0.0
1104 4o b & 30 F & 1 2.77 2.27 8.99 1.6 J11)2¢ 2%icd 4 R 1 5.40 4.06 3.54 2.3
12) 8 F& 1 2.77 2.02 111 16 |12)3 % 1 5.40 4.06 0.56 2.3
13|/ AL frdi fo 50 1 2.77 1.73 3.20 1.6 | 13]# =% 1 5.40 3.83 1.30 2.3
142 ¢ 2 mAcd & 4 K% 1 2.77 1.73 2.59 1.6
15]% % 1 2.77 1.73*-  0.38 1.6

oLt E g REY A v fie 3236,0764 9 4218,5074 4 4417,568+% -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




i B v R
% R®102+# (201
L r]‘i_
g B R = Ly g 2 R St ¥ B L &R B Ly R 1% B
& = R 7 AT = k7 AT RS & = R o7 e P

> (ICD-104 #7) 4 #ic v Fe= & oL i (ICD-104 #7) o & % |~ (ICD-104 #7) 4 i e & = 5 Fe= L %

54 ek %) 81 168.41 109.12 0.85 w4 R 5] 211.05 .00.0 4 R 28 121.81 69.53 0.85 .00.0

B 69 143.46 89.66 0.95 R 207.06 98.1 L X g F 22 95.71 56.34 0.88 786
il P AN R 26 54.06 3273 1.32 FEAFF R 75.66 358 |1l5s - t5aewn 7 30.45 12.79 121 250
2| 9 18.71 12.99 1.05 o 35.84 170 |2+« prswm 3 13.05 8.83 0.83 107
K] EESUSNESE 8 16.63 11.20%  0.47* oI R 19.91 94 | 3|ferrn i m 3 13.05 7.35 051 107

s 3 FEHA A

4| s 3 13.05 8.83 0.83 3 19.91 924 |4 4 2 8.70 3.17 1.75 7.1
5 a9 55 wnm g 6 12.47 7.42%- 056 AN R Tt 15.93 75 |sles -zsorrm 2 8.70 3.17* 039 7.1
6| % 6 12.47 6.99 1.49 5 s 11.95 57 |6]um 1 435 6.35 3.47 3.6
7 ; ;‘}V L B 8.70 3.17 1.75 S 7.96 38 |7lmssamen 1 435 4.15 115 36
8lsim 4 8.32 5.27 2.07 LEEYC =T 9P 7.96 38 |8l: % 1 435 3.56 0.77 3.6
9 |+ 1o (At OB 2 7.96 5.71 0.86 R 7.96 38 | 9" wow 1 435 3.49 7.39 3.6
10| 5 3 6.24 4.36 0.98 v o f R 3.98 1.9 |10]¢ 5 % 1 435 3.49 1.22 3.6

2L A g 5 ) 12 24.95 19.46%-  0.53* A A R ) 3.98 1.9 R R 6 26.10 13.19 074 214
11+ 5 % 1 435 3.49 1.22 1155 5% 1 435 3.10 0.77 3.6
12| & i % 2 416 351 0.47 12] 7 1 435 2.77 3.44 3.6
13)7s % 1 2.08 2.96 1.21 134 s 1 435 1.79 1.25 3.6
12m 4 2o m 1 2.08 2.09 0.57
15] 7 sy 1 2.08 1.60 3.52
Mpo2n 1§50 R EamaE ¢ A v e 3448,098 4§ 425, 1134 L {422 9864 -

2. {5 v 5 = & ( Standardized rate) % 220008 WH.O. & # 4 v #ds 4 5 A% o Tk ) L 7R 5= & Fo A TR AR A KEEE R REE = K (a=0.05)
3. #& 2 it > = 1t ( Standard mortality ratio, SMR) - &% it P e/ RS e XA T B ‘3 BFH R (0=0.05) -

A FAL R T L AT FR PG p AR R




E 2 B ’ N R 7L 2
o B4 koMK oR & < R T
3 J102& (2013#)
& (e 3 e - A
5 w & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %

54 e 7 75 19032 13112 104  .00.0 4 g 7 53 26031 19742 112 .00.0 st Ao ] 22 11550 7234 088  .00.0

g 65 16495 11651 115 867 S ] 48 23576 18014 124 906 S e ] 21 11025 7002 110 955
Wis - tisfmn | 12 30.45 2180 082 160 |1l|i# - tgudews | 10 49.12 3809 097 189 | 1[wqesen oz 4 2100 1428 092 182
2 [seqermp 5 5 12 30.45 2177 093 160 |2|#y . imieoars 9 44.20 3386 216 170 |2|epsiw 3 15.75 1129 105 136
3lan  iyioerg | 12 30.45 1953 149 160 |3 |sqesp ez 8 39.29 2030 092 151 |3 |wus 3 15.75 1090 310 136
7 e 7 17.76 1338 103 93 |4]- s 6 29.47 252 089 113 |a|i s 3 15.75 1020 312 136
5 | 7 17.76 1318 3.05% 93 |5|www 4 19.65 1663 303 75 |5|uw.zmiears 3 15.75 773 077 136
] BT 3 15.75 1129 105 40 |6 % 3 14.73 1155 146 57 |6|5# g usenn 2 10.50 702 046 91
7|5 % 6 15.23 1066 198 80 |7|auwm 3 14.73 1003 094 57 |7|wun 1 5.25 392 157 45
8 | A1 G OB 2 9.82 746 119 27 |8|ssrcmmsn 2 9.82 746 119 38 |8|cws 1 5.25 271 609 45
olsum 3 7.61 545 090 40 |o|ews 2 9.82 724 445 38 |9 ;;?‘%&*W*; 1 5.25 197 115 45
10| 4 & 7 1 5.25 392 157 13 [10]sssn 1 491 347 4164 19

Aussigare | 10 2538 1461* 064 133 AL g T 5 2456 17.28* 058 94 M2 s ) 1 5.25 232%  017* 45
11 ;;W Sl I 5.25 197 115 13 |11)emggen v i 1 491 3.47 171 19
12| #s 2 5.08 350 305 27 |12|pemm 1 491 347 113 19
13]53 s 1 2.54 139 1928 13
14| 5 = 1 2.54 139 099 13
15| f 4ot © oig 1 2.54 139 08 13

Mon L5 BRA kSREY A vdic 3239,4074  F 220,360 %4 %1219, 048 4 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A




00 B OHE M B om o~ < R 9

% F102# (2013 )
@ —F\J. g Ea L 14+
3 R 7 Ly EE 3 N B I 7= A1y HEn s N B I 7= Ly R ¥ =
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE
i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
1 R F 86 186.95 135.22 1.01  .00.0 HEF R 7 F 62 261.70 192.18 1.10 .00.0 4 R 7 %] 24 107.57 80.50 0.83  .00.0
Twarn [ e wses wsm 106 7 | |cesarm | 55 22371 6446 118 855 | |+omerm | 22 e s 105 017
INFE R Rl 19 41.30 28.93 111 221 Ll -2 58" % 16 67.54 49.11 1.30 25.8 1l%% ~ 2 %4 r g 5 2241 17.99 1.12 20.8
2 |p{esFp e g 11 23.91 15.71 0.72 12.8 2| g 10 42.21 32.43 124 16.1 2|+ s 3 13.45 9.68 0.85 125
=t 10 21.74 16.80 1.21 11.6 3 P e R 8 33.77 24.65 0.77 12.9 IR SRR Rl 3 13.45 9.40 0.60 125
41 ~ B oo 10 21.74 16.01 1.06 116 4%~ BB R 5 21.11 14.53 1.00 8.1 4 e p 2 g 3 13.45 6.99 0.61 125
5= PR 4 16.88 11.66 1.95 4.7 5 = EIC =3 4 16.88 11.66 1.95 6.5 5|+ 7w 2 8.96 7.15 6.35 8.3
) BRI 3 13.45 9.68 0.85 35 6 |5 %% 3 12.66 10.79 1.89 4.8 6 | & % 2 8.96 5.61 2.60 8.3
715 7% 2 8.96 7.15 6.35 2.3 715 E 2 8.44 5.75 1.90 3.2 7|56k 1 4.48 9.14 3.49 4.2
8|« i 2 8.96 5.61 2.60 2.3 8|&:¢ % 2 8.44 5.72 0.53 3.2 8|&: % 1 4.48 3.12 411 4.2
9 |5 %% 3 6.52 5.36 1.10 35 9 |ve 2 8.44 5.48 5.25 3.2 S B 1 4.48 3.12 1.35 4.2
10) & & &% 3 6.52 443 0.74 35 1017 % 1 4.22 4.35 2.00 1.6 1010 4 & <tk 1 4.48 3.12 1.34 4.2
fevharn [ 19 ws sist oss 221 | sescigerm | o 3709 2271 079 145 | |escigssm | 2 8% s1e- 025+ 83
11) 7% 2 4.35 6.60 2.56 2.3 11) = & By 1 4.22 3.30 8.13 1.6
12|20 2 42 <= B 2 4.35 3.19 1.29 2.3 12|20 4 & <tk 1 4.22 3.30 1.24 16
13| F & 2 4.35 291 1.61 2.3 13)% & 1 4.22 3.30 0.40 1.6
1416 s 2 4.35 2.73 114 2.3 141/ & o o oy 1 4.22 3.02 3.31 16
15)+5% 2 4.35 2.65 4.89 2.3 15 T %% 1 4.22 3.02 1.90 1.6

S GLc L) BATCHLRE ® A v B 3546,0024 9§ 123,691 ¢ - 222,311 4 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




$ R OE R M R R > R A
8,

102+ (2013#)
& 3t g Ea B 14+
g &R = 45 R Latd B &K 7 Ly RE 3 S K R = 4y kA s B
» = R 7 Ao B A S FAr Bt = R % AR oA

i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

1 R F 65 266.85 154.75 110 .00.0 HEF R 7 F 47 365.93 225.32 1.18 .00.0 Eh R 7 F 18 156.33 83.48 0.89 .00.0
I BRSPS % % 2635 13 0S| [ciserm | 17 e s 134 s
INFE R Rl 16 65.69 33.99 1.27 24.6 Ll -2 58" % 11 85.64 46.02 1.20 23.4 I EXEETRY 5 43.43 27.29 2.48 27.8
2|4 5 5 43.43 27.29 2.48 7.7 2| A 6 46.71 34.48 1.19 12.8 205 F ~ A5 iR 5 43.43 21.65 1.38 27.8
3|5 ~ 2B form B 10 41.05 17.96 1.46 154 3leg# 6 46.71 32.31 2.44 12.8 3l - il 5 43.43 19.19 1.55 27.8
4] vk 6 24.63 18.89 1.22 9.2 4 e p g 5 38.93 26.01 0.69 10.6 414 FV 1 8.69 7.35 11.05 5.6
5|eg#% 6 24.63 17.08 2.37 9.2 5% - 254w 5 38.93 18.80 1.37 10.6 5 PHferFp L d 1 8.69 2.07%- 027 5.6
6 P p 2 E 6 24.63 15.42 0.56 9.2 6 |5 SR () 3 23.36 10.94 1.80 6.4
I8 ERENC: =9k 3 23.36 10.94 1.80 4.6 I EES 2 15.57 12.94 2.75 4.3
L B 2 8.21 6.81 1.63 3.1 8 =% % 2 15.57 11.20 1.74 4.3
9 |5 v 2 8.21 5.86 2.81 3.1 9 |52 % 2 15.57 8.65 2.45 4.3
10] %= %% 2 8.21 5.67 1.03 3.1 10| 4 & <z 1 7.79 5.00 21.46 2.1
feesirm [ 7 sm asace os0 w08 | wescesenm | 4 a1 s ost 85 | [ressemarm | 1 ses  se 013 56
11 5w % 2 8.21 4.03 1.65 31 11|t A &S HT B 1 7.79 5.00 1.83 2.1
12y 4 & < 1 411 271 23.21 15 12) 8 *F % 1 7.79 5.00 1.55 2.1
3|zim A & ifk = B 1 411 2.71 0.91 15 |13]3 % 1 7.79 3.65 0.56 2.1
14]% % 1 411 1.32*-  0.39 15

o LT BAEESRE Y A r e 24,3584 412,844+ A 11,5144 o
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. 482 it 5 = 1t ( Standard mortalityratio, SMR) o fhiitsv= l=Fmn = e / W= B XA R B R
4. FTH KR LA FLE A P AR B R 4 v oSt

TR S F 5 TR AR RIS R R ¢ (0=0.05)
+ ¥k (a=0.05)

LR
- %




g2 2 B ) S " k3% 2
5 o0 B A WO B R & - R T
2 ®102+# (2013 #)
& = g 1 “ B
3 Ao R R &R R R R S R
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

T R > 47 128.91 88.61*-  0.67* .00.0 74 e~ F 30 158.34 124.28*-  0.65* .00.0 h R 7 17 97.07 54.11*- 0.70  .00.0

R i 37 101.48 70.73 0.74 78.7 Sy i 25 131.95 105.66 0.68 83.3 L R T 17 97.07 54.11 094 .00.0
1P#fesp 23 % 7 19.20 15.05 0.55 14.9 1P+ferp 23 % 5 26.39 23.00 0.59 16.7 11: % 3 17.13 10.71 331 17.6
205 % ~ L5 E o R 6 16.46 11.24*-  0.42* 128 2|45 s 25w 4 21.11 16.13 0.98 13.3 205~ 2 F E ok 3 17.13 8.39 0.71 17.6
3|es - 2o 6 16.46 10.47 0.76 12.8 K EXCE W R S 3 15.83 13.88 4.57 10.0 3o -2 frn 2 11.42 6.88 0.53 11.8
4]+ 55 2 11.42 6.58 0.71 43 Alid -2 7 R 3 15.83 13.56*- 0.30* 10.0 N BN R T 2 11.42 6.58 0.71 11.8
5135 % 4 10.97 7.38 1.37 85 5|leg® 2 10.56 9.43 0.65 6.7 5 | 5% 2 11.42 6.12 2.10 11.8
6 |5 %% 4 10.97 7.00 1.78 85 6 %% R 2 10.56 7.46 1.55 6.7 6 |PFferFp 2 E 2 11.42 6.10 0.47 11.8
7 PR R 2 10.56 7.15 1.21 43 7]+ 7R (O e 2 10.56 7.15 121 6.7 HEET 1 571 3.84 1.59 5.9
8|xtim & T B 3 8.23 6.64 2.34 6.4 8| vk 2 10.56 6.91*-  0.30 6.7 81 %% 1 5.71 2.75 9.48 5.9
9|~ &A% 1 5.71 3.84 1.59 2.1 9 %% 1 5.28 4.25 2.46 3.3 9 | 1 5.71 2.75 222 5.9
10) & & &% 2 5.49 4.80 0.61 4.3 |10]) %% 1 5.28 3.89 2.32 3.3

Y T | 10 27.43 17.88*-  0.49* 213 Ho 2t & g & F) 5 26.39 18.63*- 054 16.7 H 2L X R F) 0 0.00 0.00 0.00 0.0
11 v 525 2 5.49 3.69*- 0.30 43 11| ot w e R 1 5.28 3.89 1.73 3.3
12) %% 1 2.74 2.23 1.61 21 112)s % 1 5.28 3.55 0.50 33
13| 7 %% 1 2.74 2.00 1.56 21
14) %4 fo 8 & 223 R 1 2.74 2.00 0.84 2.1
150 % &% 1 2.74 1.55 5.36 21

Moz LR RE P Lo 3436,460%  § 118,946+ 4 17,5144 -
2. %2 it = & ( Standardized rate) % 142000 W.HO. & % 4 v Edo B4 5 A8 o Tk ) A7 4RME L 7= FAEF M) VR 7= 0 Dk ) A R80 » = FAFF ) R 7= F (a=0.05)
3. #& % i 5+ = 1t ( Standard mortality ratio, SMR) o {3 it v = ib=F 5= g / Y 7= Peo XA T EF M 55 BFF R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt
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£ o 7 B ~ B
5 w & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 91 27096  153.86 116 .00.0 4 g 7 57 32348  199.88 110 .00.0 st Ao ] 34 21299 10714 125 000

g 74 22034 127.14 126 813 L 50 28375 17675 122 877 T g 30 18793 97.15 146 882
1 |sgosep 25 4 27 80.40 44655+  1.90% 297 | 1[wqesmr s 17 96.48 5741 180% 298 | 1[sqesen ma 10 62.64 32.18 198 294
2lis - tiatenm | 16 47.64 2433 096 176 |2|is rgusenm | 12 68.10 4087 101 211 |2|ew . zmiears 5 31.32 1624 116 147
] BT 5 31.32 14.79 188 55 |3]|-sm 5 28.38 1904 076 88 |3|+psim 5 31.32 14.79 188 147
alany  zyoemg |10 29.78 17.12 111 110 |4)es s qeemn 5 28.38 1802 107 88 |aliw g useomn 4 25.06 765 082 118
5| g 5 14.89 10.19 077 55 |s|eum 3 17.03 1077 094 53 |5 ;;*" i B 12.53 11.38 213 59

FEFEIMEAP T F I . L
6|5 5 2 1253 1138 213 22 |6|sspcEmspm 2 11.35 789 094 35 |6]sim 1 6.26 492 154 29
1 EREE STV 2 11.35 789 094 22 |7|mafesepn 2 11.35 741 730 35 |7li% 1 6.26 492 092 29
8|4 3 8.93 499 090 33 |8lsms 2 11.35 546 192 35 |8lrerizamen 1 6.26 3.21 132 29
ols wp 2 5.96 4.60 125 22 |oltwreameon 1 5.68 518 141 18 |9|ews 1 6.26 185 396 29
10] i 2 & <o 2 5.96 4.47 138 22 |wofs s 1 5.68 471 108 18

Hustagarm | 17 50.62 2673 086 187 B A 7 39.73 2313 065 123 B % T 4 25.06 9.99% 059 118
11| ot o 2 5.96 399 514 22 |u)ess 1 5.68 394 066 18
1 % 2 5.96 347 059 22 |w2|ews 1 5.68 318 210 18
13|75 2 5.96 268 283 22 |u3ls s 1 5.68 273 043 18
1455 2 5.96 2.59 125 22 |1ales2mpeneann] 1 5.68 261 263 18
15|55 1 2.98 200 039 11 |15|mgden ¢ omi 1 5.68 261 149 18

o LF i RR RRE Y A v 133,584+ § 17,6214 4 (215,963% -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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& i 3 e - e
3 * o R R &R R R R R
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

[ (ICD-10%4 #8) A #ic = & v & vt % |- (ICD-104 #8) A ik =& = K et % | (ICD-104 #f) A s & s & ) %

“h R~ 89 253.49 172.14*+  1.27* .00.0 3 R 7 61 336.46 243.98*+ 1.33* .00.0 T R F) 28 164.90 99.18 115 .00.0

Y T 76 216.46 149.07*+ 1.39* 854 LA B 55 303.36 219.78*+  1.45* 90.2 LA B ) 26 153.12 95.17 1.40 92.9
1 P#fermp 25 % 16 45.57 30.83 1.27 18.0 1lc s 14 77.22 55.30*+ 2.20* 23.0 1|5 « 2 5o g 7 41.22 19.13 1.85 25.0
2| e e 14 39.87 28.94*+  2.17* 157 2 PH{esFp o R 14 77.22 54.27 1.65 23.0 2|58 A FE R 6 35.34 22.36 1.42 21.4
3lid A FEfR 13 37.03 23.03 0.90 14.6 3l ~AFEfw 7 38.61 26.03 0.69 115 ) EXER TR 4 23.56 17.47 1.46 14.3

: 3 3 FEFEEAP RS
41%% 8B 12 34.18 20.24 1.52 135 A EEE A 5 27.58 23.38 1.65 8.2 4 2 2 11.78 9.49 2.43 7.1
5+t 5% 4 23.56 17.47 1.46 4.5 5|e% ~ 25 4orm 5 27.58 19.91 1.22 8.2 5|5 % 2 11.78 7.92 2.13 7.1
6|am 5 14.24 11.83 1.56 5.6 A EX 2 11.03 11.02 1.53 33 6 P P s R 2 11.78 7.03 0.47 7.1

FEFE WAL TS f
7 2 2 11.78 9.49 2.43 2.2 718 =% 2 11.03 8.20 2.40 3.3 I EXCE R T 1 5.89 5.54 1.56 3.6
8l % 4 11.39 7.35 1.34 45 8lrrma & m 2 11.03 7.76 311 3.3 8 1 5.89 3.96 1.05 3.6
9 |2 wem 3 8.54 741 1.33 3.4 9ls % 2 11.03 7.11 0.98 33 9 |==%% 1 5.89 2.28 4.67 3.6
10| 4 & <= 7 3 8.54 6.71 2.34 3.4 |10]5 % 2 11.03 6.79 2.28 33

Hig 2bL X g & F) 13 37.03 23.07 0.84 14.6 How 2t L g 5t F] 6 33.09 24.20 0.73 9.8 How 2t X g 7 F] 2 11.78 4.01*  0.35 7.1
11 # Fvi 2 5.70 4.35 2.09 22 145 s 1 5.52 3.88 1.22 1.6
12) 5 = % 2 5.70 2.61 1.50 2.2 12) % 1 5.52 3.75 2.56 16
13| %% 1 2.85 1.98 1.67 11 |13 ¢ B4Rl B & R 1 5.52 3.60 17.71 1.6
14]5 % P 1 2.85 1.97 0.70 1.1
15192 @ 2{eal f § % 1 2.85 1.88 1221 11
o Lgj iR e e A v 34351104 9 1218,130+% 416,980+ -

1
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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£ i 7 <2 + B2
g &R = 45 R w1 S R = Ly R L =R R = 249 HREC s B
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 89 230.43 144.59 113 .00.0 HEF R 7 F 60 298.63 210.74 117  .00.0 Eh R 7 F 29 156.49 86.18 1.06 .00.0
isern s wsas w12 es | |oigesn | 50 24885 17639 128 833 | |-<mesm | 28 1519 27 13 %66
il P AN R 24 62.14 38.75 148 270 |ils# - t5a4m 17 84.61 59.44 149 283 |1|i¥ - tidfvm 7 37.77 19.81 146 241
2 |p{esFp e g 22 56.96 32.16 154 247 2 PferFp EE 16 79.63 53.66 1.69 26.7 2 PHferFp EE 6 32.38 13.11 123 207
)RR LS 5 26.98 22.78 1.66 5.6 3| 6 29.86 21.08 0.85 10.0 K) ER-ELES: 3 5 26.98 22.78 1.66 17.2
41w 6 15.53 10.15 0.84 6.7 A EEES 4 19.91 14.33 1.19 6.7 4% ~ BB 3 16.19 7.21 0.71 10.3
5| 4 10.36 6.88 112 4.5 B AR A 2 9.95 9.01 2.79 3.3 5|5 =% 2 10.79 3.50 3.86 6.9
6%~ 2B form R 4 10.36 5.98*-  0.45 45 6 P& 1 4.98 4.75 0.68 17 6% % 1 5.40 4.76 8.40 34
4 EREE gt 3 7.77 5.91 2.10 34 |7les  zunrn 1 498 359* 022 17 | 7|2dies w2y 1 5.40 3.90 1.44 3.4
8 |5 3 7.77 4.16 2.00 3.4 8lz s 2micd v L &% 1 4.98 3.53 2.76 17 8 | # FVE 1 5.40 3.70 6.77 3.4
9|t ird # "2 R 2 5.18 2.99 1.49 2.2 9 | i e 1 4.98 351 11.67 17 Sl ERCE W A 1 5.40 2.26 1.40 34
10] 3 % 2 5.18 241 0.60 22 |10 ot s vEE R 1 4.98 351 1.54 17 |10} # 1 5.40 1.75 0.93 34
om0 wmazs wse om 157 | |wescimesn | 100 47 sass os 167 | [wesccmesn | 1 540 sare o014 34
11 % s G 330 e 1 4.98 351 0.52 L1 11w s GRsE O & 1 4.98 351 0.52 17
121 % % 1 2.59 2.38 4.72 11 |12 %% 1 4.98 3.43 1.02 17
13)5% 1 2.59 2.38 0.39 11 13| % %% 1 4.98 2.75 2.07 17
141 4 1 1 2.59 1.78 0.96 11 |14)s #% 1 4.98 2.75 0.44 1.7
1502 ¢ 23 fcd & A KR 1 2.59 1.73 2.08 11

oot LB esRE Y v e $438,6244  F 420,092+ A 1218,5324 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt
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£ i 7 <2 + B2
o — 7= AL§  BEC BE - |7 o R T T A [T - 7= *L§  mEC BE o
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #7) A e ¥ e Fv = b %

54 e 7 92 20890 13104 104 .00.0 4 g 7 61 26958 18143 105 .00.0 “id g 5] 31 144.79 8825 101  .00.0
| asrn | 72 wesas o117 100 783 | |eimmrm | 52 22080 15341 113 852 | |emerm | 26 12143 7659 147 839
s t5ademn | 19 4314 2584 104 207 |1]c s 13 5745 3974 162 213 |1|i# -t iaqerm 6 2802 1752 112 194
2 [sgeren 2 14 3179 2026 087 152 |2|i# - tgsferm | 13 5745 3689 100 213 |2 [wfesen i g 5 2335 1621 092 161
3|c e 13 2952 2000 160 141 |3 [|segespozig 9 3977 2599 084 148 |3|uw.zmieurs 5 2335 1042 106 161
4l e pqeemn | 11 2498 1282 111 120 |4|es . igears 6 2652 1660 116 98 |4|s zmm 3 1401 1050  991* 97
5|+ am 3 1401 1050  991* 33 |5|wsw 4 1768 1241 240 66 |5|cprim 2 9.34 678 058 65
] BT 2 9.34 678 058 22 |elsum 2 8.84 643 052 33 |6[|wfqene g 1 467 446 130 32
7 |5 4 9.08 605 140 43 |7|srncmmsn 2 8.84 549 095 33 |7|ewm 1 4.67 339 130 32
] EEETE ST 9r 2 8.84 549 095 22 |8lisw 1 442 343 1017 16 |8]|ww 1 4.67 317 370 32
olsum 3 6.81 375 074 33 |olrwreameon 1 4.42 3.43 122 16 |o fg ;f FetEAR AL 4.67 2.26 096 32
10| 5 7% 1 4.67 339 130 11 |10]ssw 1 442 201 204 16 |10 ;ﬁ VAL (L 4.67 187 2040 32
i herm | 20 asar 2987 08 217 | |rescimmem | o 017 2803 074 148 | |#es-<mesrm | 5 2385 1le6- 059 164
11 ;;f" FEARETL 4.67 2.26 096 11 |11|eus 1 4.42 258 180 16 |11|ais 1 4.67 1.87 376 32
12|68 2 454 314 265 22 |12]seen 1 442 258 090 16 |12|seem 1 467 173 176 32
13| a e me 2 454 207 124 22 |13]s % 1 4.42 258~ 030 16 |13|nes s men 1 4.67 173 125 32
14535 2 454 236 119 22 |wzssmreneann| 1 442 232 242 16
15|72 § fo 8 23 1 2.27 217 0.66 1.1

Mo L RRAREERE Y A v 3144,040% § 222,628+ A 1221,411¢% -
2. &% i+ 5= & ( Standardized rate) % 220002 W.H.O, & f % v #8084 5 A% o Tk ) 201057 = FRF R BHRE L = 500 T ) 2R 52 FRF G 0§ 1 SR 5= 5 (070.05)
3. #&2 it 5+ =+ ( Standard mortality ratio, SMR) o v 5= w=F 5= $ic / HF 7= o KL FHF R 53 EF 7 R (0=0.05) -
4. FHR KR L AR FIIO FLATAL P AN E B R A o
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% ®102+# (2013&)
& 3+ g M L M
5 w & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % | (ICD-10% #f) A = & Fe= % =k %

54 e 7 39 24275 10556 085 .00.0 4 g 7 24 28450  12645* 078 .00.0 “id g 5] 15 19659 89.17 094 000

g 33 205.40 9475 099 846 L 22 26079 11720 097 917 T g 15 19659 89.17 126 .00.0
| FE RS Py 8 49.79 2718 080 205 |1l|i# - tiEform 6 7112 3478 083 250 |1|uw 2wy 4 52.42 2573 160  26.7
2|an s yioemg 8 49.79 2355 150 205 |2 |wferen nag 5 59.27 2690 090 208 |25 g uieonn 2 26.21 2240 070 133
3 |sqerp g 7 4357 1941 083 179 |3|es . imqars 4 47.42 2252 141 167 | 3o my g 2 26.21 1140 066 133
4l s g ame 3 18.67 545 355 77 |4l|teizamewn 2 23.71 812 491 83 |4|wfqene g 2 26.21 881 477 133
5 e pssa 1 13.11 861 067 26 |5|zsampencann| 1 11.85 788 426 42 |slepsrus 1 13.11 861 067 67

FPFENEAM A . .
6|5 5 1 13.11 262 184 26 |6|-um 1 11.85 541% 027 42 |e|i# 1 13.11 358 158 67
7|ehqon v g 2 12.45 468 240 51 |7 ;”ﬁ VARG 11.85 460 2616 42 |7|merssmen 1 13.11 338 232 67
8les 2mpneann| 1 6.22 416 336 26 |8|www 1 11.85 350 110 42 |8 |ieswois 1 13.11 262 4720 6.7
) 1 6.22 2665 028 26 |9|sum 1 11.85 350*- 055 42 |9 fg ;f S B 13.11 2.62 184 67
10]s % 1 6.22 202 050 26

R A s 6 37.35 1081* 048 154 B A 2 2371 9.24*  025% 83 A T 0 0.00 000 000 00
115 1 6.22 172 065 26
12| 5 % 1 6.22 172% 053 26
13 ;’% valEfea ey 6.22 167 1700 26
145 va o 1 6.22 167 1348 26

oL g5 BhD ksREY A v e 16,0664 48,4364 4 4£7,630% o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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% @102 (2013#)
£ i 7 <2 + B2
g &R = 45 R w1 S R = Ly R L =R R = 249 HREC s B
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 56 199.88 116.49 0.88 .00.0 HEF R 7 F 38 260.77 165.57 091 .00.0 Eh R 7 F 18 133.88 67.75 0.81 .00.0
osern e ma w2 i ess | |cimern | % 24705 154 113 947 | |-<mesm | 17 144 6195 104 944
1 Pprfessp 24 11 39.26 23.26 0.96 19.6 1) s 9 61.76 39.57 1.67 23.7 1 Pprfessp 24 5 37.19 16.42 124 278
2 |- 9 32.12 20.24 1.68 16.1 2 PferFp EE 6 41.17 27.46 0.79 15.8 205 F ~ A5 iR 3 2231 16.70 0.76 16.7
3l # ~AF E Rk 9 32.12 18.36 0.67 16.1 3l # ~ 25 F iR 6 41.17 22.68 0.63 15.8 3l - il 3 2231 7.93 0.86 16.7
4155 ~ B foi B 7 24.98 14.45 0.96 12.5 4%~ EF ol R 4 27.45 19.82 1.06 10.5 4t &S B 2 14.88 3.97 3.34 111
S IREENC = L0k 2 13.72 6.64 117 3.6 S |4 EV 3 20.59 14.21 4.36 7.9 ) XL 1 7.44 6.03 0.45 5.6
6 | & F1: 3 10.71 7.81 3.90 5.4 6| adfrdl & 2 2 13.72 9.86 3.68 53 6 | & & 1 7.44 3.96 1.92 5.6
TPedfrd © e R 3 10.71 6.23 2.66 5.4 HARE ] 2 13.72 9.86 1.07 53 7 PR 1 7.44 3.96 1.15 5.6
8|+ st 5 1 7.44 6.03 0.45 18 8 |5 SR ()R 2 13.72 6.64 117 5.3 Bl irt e 1 7.44 2.97 171 5.6
9| £ % 1 7.44 3.96 1.92 1.8 9 |5 =% 1 6.86 4.72 119 2.6
10] 3 % 2 7.14 4.60 0.74 3.6 |10] ¥ fort & o ¥ A 1 6.86 3.61 1994 26
freoisarm [ 8 mss waee ossr wa | |wescimesn | 2 w2 e oz 53 | [wescimesn | 1 740 sson o1 56
1 2 & Sl = B 2 7.14 2.54 171 3.6 |11} 1 6.86 3.52 3.34 2.6
12) o35 1 357 2.60 0.78 1.8
13)5% 1 3.57 2.00 0.48 18
1414 fobf & 50 B 1 3.57 1.63 10.97 18
15)7% 1 3.57 1.27 3.05 1.8

WLl g BT ERE AU fkc $928,0174 7 414,5724 & {E13,4454 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt
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z i 7 B - B
g &R = 45 R Latd B &K = Ly RE 3 S K R = 249 HREC s B
» = R 7 Ao B A S FAr Bt = R % AR oA

i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

1 R F 78 249.06 143.23 1.06 .00.0 HEF R 7 F 43 263.37 163.41 091 .00.0 Eh R 7 F 35 233.47 124.90 135 .00.0
Fisern e aomss wse 114 sz | [emarn | % 2mer 14903 105 907 | |semsrm | @ 20679 10908 156 s8s
1 Pprfessp 24 16 51.09 29.00 1.20 20.5 Lpprfermp =g % 11 67.37 41.51 1.27 25.6 1% s 23 fonr g 7 46.69 23.90 171 20.0
2|5s 25 i enn 16 51.09 28.78 103 205 [2|§# -~ tgEqerm 10 61.25 35.47 092 233 |2li% - t5Eewn 6 40.02 23.89 129 171
3|5 ~ 2B form B 12 38.32 20.10 143 154 3|5 - 25w 5 30.62 17.36 117 11.6 3 s L E 5 33.35 17.18 1.04 143
415 » 5 15.97 8.46 1.58 6.4 415w 4 24.50 17.80 1.35 9.3 416 i 3 20.01 11.83 4.79 8.6
Bl EXEE LR 2 13.34 7.55 0.78 2.6 5| i 3 18.37 13.80 0.49 7.0 57 % 3 20.01 11.04 2.90 8.6
6lsg# 4 12.77 9.57 1.27 51 613 & 2 12.25 6.42 0.94 4.7 6 = %% 3 20.01 9.57 291 8.6
I B 3 9.58 7.31 0.49 3.8 7| 1 6.12 4.82 2.76 2.3 A BT 2 13.34 7.55 0.78 5.7
814 & 3 9.58 5.88 1.98 3.8 8 |4 V& 1 6.12 4.27 1.27 2.3 8 |5 1 6.67 2.53 1.92 2.9
9 |=%% 3 9.58 4.87 1.24 3.8 9 | i e 1 6.12 3.93 11.82 2.3 9|+ i 1 6.67 1.58 1.67 2.9
10] #r & & 1 6.67 1.58 1.67 1.3 |10) % =% 1 6.12 3.66 1.06 2.3
feoiaera [ ast 240 om 167 | [rescimerm | 4 250 1a38~ 039 93 | [resiogarm | 4 2ees 182 o 114
11 5w % 2 6.39 3.15 1.35 2.6
12} 6% 1 3.19 2.54 1.84 13
13) 4 F1 1 3.19 2.40 113 13
14] 4 e A 1 3.19 2.04 8.40 13

Mot Lyt R EERE Y A vofie 3231,3184 §4416,3274 4 414,991 % -
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. 482 it 5 = 1t ( Standard mortalityratio, SMR) o fhiitsv= l=Fmn = e / W= B XA R B R
4. FTH KR LA FLE A P AR B R 4 v oSt

TR S F 5 TR AR RIS R R ¢ (0=0.05)
+ ¥k (a=0.05)
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3 J102& (2013#)
£ o 7 B ~ B
5 w & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
= R ¥ AT E/V\LL = R 7 gL ‘FT/,,\LL = R 9] S AT ’p‘/,,\}L

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 110 31232 15715 114 000 4 g 7 63 33778 19256  1.00 .00.0 st Ao ] 47 28365 12188  137* .00.0

g 95 26073 12860  127* 86.4 S ] 50 31634 16949 112 937 S e ] 43 25051  116.82%+ 163* 915
1 |sgosep 25 4 32 90.86 46.72%+  181* 291 | 1[sqeer mn 20 10723 6187%+ 175% 317 |1 |seqesepaig 12 7242 2784 183 255
2|lis - tiatenn | 18 s 2076 086 164 |2|- 9 48.25 3123 117 143 |2|is - tidtenm 9 5432 1887 145 191
3| e v 9 25.55 1703 121 82 |3lis - tiisern 9 48.25 2250%- 061 143 |3|e5 .z gioarg 6 3621 1248 110 128
4w -2 g qonr g 9 25.55 873 080 82 |4]|swm 6 32.17 1458 159 95 |a|eprim 4 2414 1747 132 85
5|« s s 4 2414 1747 132 36 |s5|im 4 21.45 1130 141 63 |5 |wus 3 18.11 831 217 64
6 ;;“W FEAREE) g 18.11 754 257 27 |6|ew - igqenrmn 3 16.08 6.42%- 052 48 |6 ;;*"" el 18.11 754 257 64
7| 5% 6 17.04 694 152 55 |7|ew 2 10.72 734 426 32 |7]sswm 2 12.07 549 248 43
8|t 5 14.20 595 118 45 |8sim 2 10.72 574 175 32 |8l|reizimem 2 12.07 510 207 43
9 |55 5 14.20 593 154 45 |olesipcmmipa 2 10.72 440 073 32 |9l 1 6.04 774 541 21
10]4 5 4 11.36 536 202 36 |10|uem 2 10.72 410 107 32 |10fseen 1 6.04 509 141 21
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